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1 Rk F Tier 1IE AR DR 8,755,588|  8,432,732|  8,392,964| 8,588,328 8,382,735
2 Tier & ARDEH 9,963,206|  9,630,947| 9,621,367 9,817,253 9,612,798
3 WEHCERDOH 10,802,315 10,321,271 10,384,970 10,604,503 10,437,117
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4 YAZ + TRy FOF 70,401,996 70,798,861| 72,286,492| 70,248,881 66,120,492
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5 AL R Tier 1EE SR 12.43% 11.91% 11.61% 12.22% 12.67%
6 HEETier1 o R 14.15% 13.60% 13.31% 13.97% 14.53%
7 SR A CEA LR 15.34% 14.57% 14.36% 15.09% 15.78%
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13 BT 7 AR—= ¥ —DFH 212,070,734| 212,552,462| 221,450,414| 214,310,041| 199,421,206
14 HEEL ALy DR 4.69% 4.53% 4.34% 4.58% 4.82%




